Week 12
Wednesday 10th June 2020
Year 5- Problem solving
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Estimate and Approximate

Ta. Taron has answered fhe following
calculation:

1,214 + 483 =1,617

Use an approximate calculation fo
‘explain whether Taron’s answer s likely fo.
be comect.

Tb. Rachel has answered the following,
calculafion:

3,857 -1,743=2,314

Use an approximate calculation fo
explain whether Rachel’s answer is ikely
fo be comect.
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She wanis fo show the approximate fotal
of the fhree numbers using place value
counters, but she only has thousands
couners.

How many thousands counters will she
need?

He wants fo show the approximate fofal
of the three numbers using place value.
counters, but he only has hundreds
counters.

How many hundreds counters will he
need?

3a. Ibrahim wants fo give away 73 of his
building bricks.

affer he has given the bricks away.

Is Ibrahim’s esfimation correct? Prove if.

hig

3b. Sonya wants o collect 1,856 more.
beads.

She has 2,000 beads in her collection.

She estimates she will have 3,000 beads
after she has collected her new beads.

Is Sonya’s estimation comect? Prove if.
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4a. Rocco has answered fhe following
calculation:

43,795 - 17,489 = 35,842

Use an approximate calculation fo
explain whether Rocco's answer is I
fo be comrect.

4b. Emily has answered the following
calculafion:

30,239 +7,122 = 37,361

Use an approximate calculation fo
explain whether Emily’s answer
be comect.

Sa. Shuri has been given the numbers
below:

5b. Luke has been given the amounts
below:
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She wanis fo show the approximate fotal
of the fhree numbers using place value
counters, but she only has thousands
couners.

How many thousands counters will she
need?

He wanis fo show the approximate fofal
of the three amounts using real money.
but he only has one pound coins.

How many one pound coins will he need?

4a. Jackson wants fo buy @ basketball. It
costs £14.79.

He has £70 in his bank account.

He estimates he will have £45 left afer he
has bought the ball.

Is Jackson's esfimafion correct? Prove it

6b. Esther wanis fo buy a characler
computer game. If costs 17,750 cre«

She has 80,000 credils in the game.

She estimates she will have 40,000 credils
left after she has bought the character.

Is Esther's estimation correct? Prove it
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7a. Sean has answered the following
calculation:

28,034m + 8-km = 36,284m

Use an approximate calculation fo
explain whether Sean’s answer is likely fo
be comect.

7b. Seren has answered the following
calculafion:

53,493m - 93-km = 49,919m

Use an approximate calculation I
explain whether Seren’s answer is likely fo
be comect.

8a. Isla has been given the amounts
below:

8b. Omii has been given the lengths.
below:
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She wanis fo show the approximate fotal
of the three amounis using real money.,
but she only has one pound coins.

How many one pound coins wil she.

need?

He wants fo show the approximate fofal
of the three numbers using pieces of
rope, but he only has ropes which are.
1.000cm long.

How many 1,000cm
need?

e B

ces of rope will he.

7 Max has fo pulup 93 km of
telephone wires

He has 20,000m of wire.

He estimates he will have 10,000m of wire
left after doing the job.

9b. Olivia wants o buy a free house. If
costs £244.89.

She has £290 in her bank account.

She esfimates she will have 3,500p left
affer she has bought the free house.

150l

/s estimation comect? Prove





